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QUESTION 1

1.1 A company installed computers at a computer centte in October 2015.
The manager used a bank account to pay the employees' wages for the project.

Below is a comparison of the cash-withdrawal fee structures of two banks in 2015
and the percentage changes in fees from 2014, as well as the calendar for

October 2018,
TABLYE 1: CASH-WITHDRAWAL FEE STRUCTURE OF TWO BANKS
; - % CHANGE
BANK 2015 FEE o ﬁﬁ}%ﬁ IN FEES
. o FROM 2014
X R3,95 4 R1,30 per R100 vor 3.0
Y R4,00 + 1,15% mf mthdmwal mzfmimt R15,50 A

CALENDAR FOR OCTOBER 2015

Sup, | Mon, | Tue, | Wed. | Tha, | Fri. | Sat,
1 2 3 4 | 5 | 6 7

8 9 10 11 1 12 13 14
15 16 17 18 19 20 1 21
22 23 24 25 1 26 27 28
29 30 31
NOTE: Employees did not work over weekends.

Use TABLE 1 and the calendar above to answer the following questions.

LL Determine the probability of randomly selecting a workday in October
2015 with a date that is an even number. 3)
1.1.2 Give ONE valid reason why a company will not necessarily use a bank
offering the lowest bank charges. )

1.1.3 Determine the missing value of A (rounded off to ONE decimal place) if
the 2014 withdrawal fee was equal to:

(R3,50 + 1,1% of the withdrawal amount)
You may use the following formula:
2015 fee per R1000
2014 fee per R1000

Percenitage change in fees = [ - i) x 100%

)

114 The company withdrew R15000 for the weekly wages every Friday.
The financial officer stated that the company would have saved more than
RY0 in withdrawal fees if they had used Bank Y rather than Bank X for
the four withdrawals.

Verify whether this statement is valid, (1)

1.1.5 Calculate an employee's total monthly wage if he eamed R2 142,85 per
week in October 2015, Assume that the employee was not absent and did
not work overtime in this month, 4)
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12 [Since 2012 there has been a decrease in the number ;c;féésjﬁésmefs ship}:;ei:i«glg)baﬁy. |

GLOBA% ﬁm?MNT OF COMPUTERS. §§Y
LAKGI}S’I‘ COMPUTER MANU?‘ACTURERS Sl
§ Nﬁmmi OF COMPUTERS (IN WLLI{}NS)
| mmmxe; e o SHIPPED _
CMANUFACTURERS y‘ms*r QﬁAﬁTﬁi& ms'g Qﬁz&&*ﬁ‘ﬁk
‘ ez o | 2013 |
1572 I o1
11,7
10,1
9.0
5.4

mﬁaw%

o 1.%1

@

PR glmba ly by the five manufacmrm in the ﬁtst quarter of 26%2 and the ﬁmt S
i "_"‘-quafter of 2013, SRR

3 It was state&that in thxs period, mamsiacmex A ghcx ed & s
percmtaga decrease in t&@ s?:upmﬁm of compme;rs mmpemd wzﬁa
v-manufacmmrﬁ} o

Verify (ahewiﬁg ALL caiotﬁatims} whethet thxa statement is valid @) ( .
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2.1 A repregentative of the Department of Tourism gave an overview of the spending by
all tourists (domestic and international) in 2013,

The total amount spent by all tourists in 2013 showed an annual growth of 9,7% from
the previous year.

The impact of tourism on the South African economy is represented graphically in
ANNEXURE A.

Use the information above and ANNEXURE A to answer the following questions.

2.1.1

2,12

213
9.1.4

2.1.8

() Calculate the total amount spent by all tourists in 2012.

(b) Explain whether it is more appropriate to round off the rand value of
the total amount spent in billions to one decimal yiaw rather than
rounding off the rand value of the total amount s;;}am in billions to
the nearest whole number.

The average amount spent by international tourists in 2013 was exactly

R6 580.

Verify, showing ALL calculations, whether this amount is CORRECT.
Idﬁaﬁtﬁify the item(s) on which international tourists spent the least money.
Give ONE suitable example of a "tourism-related item’,

The tourism industry's direct contribution to the gross domestic product
(GDP) was R103,6 billion in 2013.

The tourism industry’s annual contribution to the GDP remained constant
at an annual compound interest rate of 2,9% for the next three years.

Determine the total amount (rounded off to the nearest million) that the
tourism industry contributed to the GDP in 2016.

Pleass turn over
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2.2 ]| Tourists can tmvs%l by frain as one of‘ tﬁe m{:des ef tfans;aort in Bouth Afrwa

suth *A:trman t

| The famﬂy d&pat*ted fmm Jmh 1
, *? ?&bmary 2016, - -

The mﬁ)mati«;m abfmt 1:11&3 tmm smhaduies and
ANNEZ&UKZ&B N

imhulom M”ey._

f thar(bﬁmig 1 95.9% hé}z:* }msb W anc

sbug o zﬂamary?ﬁié and returned on

for 2016 1 shown i

Use ANNEXURE Bto answer th@ fallamng quesﬁens
@1«)

221

222

RO
(@)

'_;};’i distama (m
8 = average spee

‘Johannesburg and East Lnndnn i

Hence, d&termma the mudai sto_i IV

Calculate the total stopover tlma at all the railway stations between

7 ®)
time at the railway stations.  (2)

Determine the average speed at w’hich “’the: trauz travellad fmm
3o}zanncsburg to Bast imzd@ﬂ grer

:, s th%‘fgl}awmg fmmuia

IJ ﬁ X ‘1‘ wt;gam

T = time in hours (h) "fﬂ?) i

Calculate the total cost of the return train trip for the family, S
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 ANNEXURE A
QUESTION 2.1

NUMBER OF INTERNATIONAL T

1 'million

w{ms'r SPENDING PER R100
_FOR DIFFERENT _;;;:-EM& ~

n Satelite Account for SA, hitpi
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ANNEXURE B
QUESTION 2.2
- Johannesburg to East London = 992 kmn

RAILWAY STATION ARRIVAL DEPARTURE
Johannesburg to ... 17:30 day 1
Germiston | 17:53 day 1 17:58 day 1
Vereeniging 19:00 day 1 19:20 day 1
»Sa‘soiburg 19:43 day 1 19:48 day 1
Koppies 20:34 day 1 | 20:36 day 1
Kroonstad 21:42 day 1 21:50 day 1
Hernenman 22:26 day } 22:28 day 1
Virginia 22:44 day 1 22:46 day 1
Theunigsen 23:14 day 1 23:16 day 1
Bloemfontein 00:32 day 2 00:55 day 2
Springfontein 03:49 day 2 04:15 day 2
Bethulie 05:00 day 2 05:03 day 2
Burgersdorp 06:17 day 2 06:34 day 2
Molteno 07:25 day 2 07:28 day 2
Queenstown 08:58 day2 09:12 day 2
Stutterheim 1143 day 2 11:46 day2
Berlin 12:39 day 2 12:42 day 2
East London 13:24 day 2

ADULT SINGLE FARE

MONTH JANUARY FEBRUARY MARCH APRIL

FARES R560 R490 R490 R490
NOTE:
»  Peak season: November to January
e  Children aged 3 to 9 years:

> 50% of adult fare during off-peak season

P 80% of adult fare during peak season
«  South African senior citizens (55 years) qualify for 25% discount.

[Adapted from www,southafricanral
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BOX AND WHISKER I’LﬁT& I{m’RESEN“i’iNG ATT’ENI}AN"LTE FOR

~ MORNING AND meom GROUPS OVER A PERIOD OF 18 nmg e
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ANNEXURE D
QUESTION 4.2
LAYOUT PLAN OF THE ZOO
Predators Services

M Hoofed animals fEducation
Aquatic animals

Other animals

ez,
L

[Source: Wikipedia/Denver Zoo]

MAP OF THE SURROUNDING AREA OF THE ZOO

/%&

o

[Adapted from Google Maps/Denver Zoo]
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QUESTION 3
3.1 Stmone uses the local swimming pool to give swimming '!eésmzs
The fec:fmgulm pool has a shallow section, C, a deep end, A, and a sloping section,
B, as shown in the various views below.
Pictare of the swimming pool 3D view
A
{12m
L4
ﬁ;&v
;
15m
i
The capacity of section B of the smmmmg pool is 30(} m . |
You may use the following formula:
Volume of a rectangular prism = length x widtit X hezght
NOTE:
L gallcmw 3,785 litres
o 1m'=1000¢
31 Show, with ca‘le::ulmmm, that i;‘iw ma’xmmm xsa;:acity of the swimtning
pool is 765 m’. : (5)
312  Caleulate the volume of water (in gallons) required to fill tiw swxmmng
pool to 94% of its c:apamty . , 4)

3.1.3  The pool must be topped up with 135 000 £ crf water dus to. water loss.
. The pool i filled with water at a conistant rate of 2 350 litres per hour.

- Siiione says ’tt;at it will take exactly 24 deys to top up the pool.

- Verify, shm@*ing, ALL caloulations, if her statement is valid. (5)

Copyright feserved 000000 OO Plessy o
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3.2 Swimming lessons are offered four ﬁmﬁs a W%k to i%sme difimn%; gmu;js :

The mmmng group (M) and afternoon group (A} each has 20 regwt&red parnmpants
The evening group (I) has 8 r@gistemei pamaipants

 Use ANN EXURE C to answer the fi}llmvizag qtm%ﬁom .

3.2.1
3.2.2
323
324

3258

Copyright reserved

t)atamma missing value x rf the m%zz atﬁenﬁame fer !Vi is 1‘3

Determine the im@rqamzi@ rmge for A

- Gives pwss{iaie massfm W‘hy E h;a& ﬁz%} aﬁ{%ﬁﬁﬁﬁﬁe on more éays; thazx M.

| Determine the probability (@xg)re*smi asa w}w}@ perem;ﬁage} of randomly R
c:hmsmg, aéay on whwh A has faii aﬁﬁz}darm ; 'j : . :

C%iw TW(} redsons why. the atmcianw ef A is wm;demci 10 %3@ better |

than that {}f’ M by using the box ax:é W}}iﬁkﬁ? ;ﬁets

i llllilﬂlll!ﬂl llll]llll ill!i Ll llllllilﬂl!llll[lil!{ltll | Pleseumover

_ ANNEXURE C shows the attendance records for the three groups over a pamd (}f -
18 days, as well as corresponding box and Whiskar plots mpmsmtmg ztha attemianm o
of groups M and A. . ORI
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4.1 In 2015 Keitumetse partimpawd in the Oakland Marathon and the San Frammc
‘Mamthm .

‘The graphs indicating the height above sea level of the Oakland and San Franciseo |
Marathons are shown below.

Graphs shawing the height above sea level of

the Oakland and San Efanmeﬁ Marathons

0 2 4 6 8 10 12 14 16 18 20 ?:?74 2%
Distance (miles) '

| NoTE:

o 26,21875 miles = 26 miles + 385 yards

 |s_ifoot =03038 m

Use the graphs above to answer th@,’failﬁwixig questions.

411
4.1.2

4.1.3

4.14

Copyright reserved

Show by caleulation that one mile is eqaivaim to 1 "?fi@iymds

Determine the approximate distance (in mﬂess) from the stait of the
San Franciseo Marathon to where the heighf above sea level rises steeply

for the first time.

Calculate the maximum height above sea level (m mefmg) for the Oakland
Marathon,

An Oakland Marathon particﬁpam stated 'ﬂiat the first 10 miles had been
the most difficult, but thereafter it was much easier.

Give a possible reason for this participant's staterment.

T o amover
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4.2 Keitumetse also visited the Denver Zoo dung his stay in America. The layout plan

of the zoo, showing some animal enclosures an{i a map ﬁf ﬂ}ﬁ gwmmdmg area, is
ng&ﬁ in ANNEXURE D.

| Usa ANNE’KU RE D to answer the f«:}llawmg questions.

421

4.2.2

4.2.3

4.2.4

Copyright reserved

Dete:rmm& the tmal numb&r of venues thai are avaiiabie for services and

: uducatmﬁ

Keitumetse entered the ?amg paaaeé t‘h& gredatm ﬁnek}mre aﬁd continued -

‘ walkmg ina West@rly chrectmn
Nama thfs next major ammait wnciasﬁre thai he wiiii ancmmiﬁr

~ Ifthe area of the &Iaphmt @miam is ap;:mxims:teiy the size of the aren

of four football fields, estimate’ the area ef the entire: 200 in terms of thﬁ:v

- area of football fialc%g

“The shortest distance between Ym*k 8’33’&:& ami C&i@rado Street is 1 6 km

'\’mfy (almwmgg ALL c:a!;mﬁmmms) thﬁm the h&x seaie on the map‘

is correct,

@)

o

#

)
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The bar graphs below show the number of visitors per hour entering the Denver Zoo on
four days of the week.

Number of visitors

Number of visitors per hour entering the Denver Zoo

SATURDAY

SUNDAY

THURSDAY

TUESDAY

S (o) - o) () [ fam [ ) (@)

N o™ Ut N (Q\] w N (@) wn [@)) ™ N

(@) o — O —t — < i — <O Y
HOURLY TIMES

[Adapted from Wikipedia/Denver Zoo]

Use the graph above to answer the following questions.

4.3.1

4.3.2

43.3

434

According to the graph, on which day do most people visit the zoo?

Give ONE reason why it cannot be said with certainty that 12:00 on a
Monday is NOT a very popular time for visitors to enter the zoo.

Describe TWO possible trends that relate to the number of visitors and the
hourly times visitors enter the zoo.

Keitumetse states that at 09:00 on Saturdays the number of visitors
entering the gates is nearly double the number of visitors at 09:00 on
Tuesdays.

Give TWO reasons to justify this statement.

TOTAL:.
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